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CAREER POWER
Stamp


10, He broke off in the middle of the story.

l;‘ filed (2) began crying

(3) stopped suddenly (4) felt uneasy

11, He refused to be led by the nose.
(1) follow like an animal (2) be treated as a fool
(3) follow submissively (4) be treated violently

| . .

12, When they immigrated (o a new country, it is safe to say they did it for loaves and fishes.
(1) happiness {2) honest reasons
(3) material benefits (4) resettlement

Directions (Questions 13-16): In each of these questions, choose the correctly spelt word.

13. (1) Provocateur (2) Provacator (3} Provacautor (4) Provacateur

14, (1) Indispansable (2) Indespensable (3) Indispensable (4) Indespansable
15. (1) 'l'intinabhulgtiun (2) Tintinabulation (3) Tintinabullation (4) Tintinnabulation
16. (1) Obnoxiouse (2) Obnoxious (3) Obnouxious {4) Obnoxeous

Directions (Questions 17-20): In each of these questions, select the word that is most similar in
meaning to the word given in capital letters.

17. IMPROVIDENT

(1) Shabby (2) Incapable of proof (3) Prophetic (4) Thriftless
18. INGRATIATE

(1) Infuriate (2) Gain favour (3) To accept bribe (4) Infuse
19. CLEMENT

(1) Lenient (2) Daring (3) Ruthless (4) Contented

20. EXPLICATE
(1) To apologize
(3) To strengthen

(2) To make something complicated
(4) To explain
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21, T vamafism &

(1) sFfas (2) srwenfr (3) HAAH (4) HIAF

22, M OF TR W@ A
(1) It (2) foamg (3) 7R (4) fomman

23, ZHU & A4 Hed HIA G
(1) Hug (2) =fgw (3) 3=R (4) 7=

frdor (wvm 24-25): T oA W fau T geErEt @ @@ s feg o fawedl W@ W
24, wY-uia g 7 '

(1) &% S (2) =T W (3) TER IO @ (4) FE AET FT
25, WHeEl T HEEl "Il . L
(1) fredss = =38 = (2) Fug_Adte F
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26. (1) =t (2) #hfa (3) fefa (4) ferdt

27. (1) =4 (2) 9= (3) F=E (4) F9vg

fordber (wver 28-32): 3 W o fu Mg v A W wh-faey fg e fased F w g
28. Vil

(1) 911 + 2 (2) 7 + & (3) 9 + & (4) T+ 3|
29, afewpr

(1) 7f&: + FH (2) afe: + TR (3) 7f& + THR (4) Tfeww + IR
30. R

(1) FW: + 39 (2) TN + 37 (3)am: + = (4)y7@ + 7
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60.

Which of the following is not a type of an Operating System?
o)) R (33 Dt 1) (3) Mac 0S X (4) None of these

Compater kevboard shortcur key Crri ~ K is used to
-:rﬂﬁscﬂ:cmmu}msem (2) Open the START menu
« 31 Insert hyperlink for seiected text (4) Open 2 new program

Which of the !'ullu*&mg 1s not a video file extension?
(1) B (2) vob (3) mdv (4) .amr

Which of the following elements is unique for each cell in an Excel worksheet?
(21 File name 12) Cell address (3) Row heading (4) Column headir

When working in an excel worksheet, If vou see ##=## in a column then what is wrong?
i 1+ Column is 100 narrow. (2) Row is not tall enough.
i 31 Column is 100 wide. (4) Both(}) and (2)

Which of the following is the default body font in Microsoft Word 20077
i 1) Cambria i2) Arial (3) Calibri (4) Times New |

Who is the current Prime Minister of Australia?
i 1) Tony Abbot (2) Julia Gillard (3) Kevin Rudd (4) Malcom Tu

Who 15 currently the youngest Chief Minister of a state in India?

(1) Akhilesh Yaday  (2) Arvind Kejriwal  (3) Mukul Sangama  (4) None of th
Which of the following is nota recipient of Dadasaheb Phalke Award?
i 1) Shash: Kapoor i2) Gulzar (3) Pran (4) None of tt
[NDRA is 2 joint, bi-annual naval military exercise conducted by India and |
(1) USA (2) Russia (3) Japan (4) Sri Lank:
Flavia Pennenia of haswmtheWomen‘sSinglutmphyuftheUSOp'

W J—
{1) Spain (2) Poland (3) France (4) Italy

9
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65.

66.

68.

69.

haventus 1O s e
th I-'nu:'i:n: <15 2 professional football club of which country”
12y France (3) Spain (4) Naly

Sportsperson M
ey andeep Jangr : ; . ;
which spor? deep Jangra who was recently awarded with Arjuna award is connected witk

(1Y Boxin

& (2) Kabaddi (3) Hockey (4) Volleyball
An Election ¢ 3
oflice or till lﬁ:l;mn;:smun!:r or a Chiel Election Commissioner has tenure of  years i
(1) W0 r she attains the age of 65 years, whichever is earlier.

(2} three (3) five (4) six

“-hi‘l W o :

as presented with 24th Saraswati Sammaan for his epic wgri Ramava

Mahanveshanam" written in Kannada?

{11 f:l,\’aerap;.:-a Moily (2) Jairam Ramesh

{(3) Subramanian Swami (4) Mani Shankar Aiyyar
Whic : i

w{}t;‘:{r country sent its first astronaut named Andreas Mogensen i space on 2 Septem
(1) Belgium (2) Denmark (3) Austria (4) Poland

European Medicines Agency (EMAY?

Name the world’s first malaria vaccine approved by
(4) Fliesquirix

(1) Malaririx {2) Pestquirix {3) Mosquirix

Which country becomes first developed nation 1o default on International Monetary Fund ¢

(1) Spain (2) Greece (3) Belgium (4) Russia
Ancient city of Palmyra is located in which country?
(1) Iran (2) Iraq (3) Syria (4) Turkey

International Day of the Girl Child by the United Nations?

Which day is observed as the
(3) 11 October (4) 11 Decemb

(1) 11 January (2) 11 February

Which airport is going to he the first solar powered airport in the country?

(1) Cochin [nternational Airport Limited

(2) Rajiv Gandhi International Airport, Hyderabad

(3) Sri Guru Ram Dass Jee International Airport, Amritsar
(4) Sardar Vallabhbhai International Airport, Ahmedabad

11
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ST ST SR 3 w1 s s e, g, sen, R, Fen, Hen ST W/ S-S
T RN S TH F O W 37w § A sfard s Q@ 59 w9 4 T

* IR U e e 3g 1w # sh w36t gAw e  Forend s e s s

TEN UF I TH g2 @ & ol fo g § v @A

" S S S et e o e s § of s e w9 @
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. Eﬁﬁﬁmnmmmémmmquﬁml

. #ﬂaﬂmﬁaﬁamﬂmﬁ%mﬁ:mnmﬁmﬁamﬁmf'

. ﬁﬁq“ﬁmm?ﬁmaﬁiaﬁﬁﬁﬂm%l @

71, Hief’ @ w1 v w0
(1) =reita ' {Ej‘aﬂ”ﬂﬂ
e /A b e

72, Z9-few vama § w19 w7
(1) 3759, ¥em ¥R @ow
(3) s aEm, 3R e

(2) F&W, S 3 WEy
(4) 3799 3T dam

TR [ M—
(2) oY, 3751 N ey

(1) 3o 3 wian
(3) divw 3R s (4) 9, 99 SR saw
74. s@en gt # MHZ, NIW, OKT, PNQ ?
(1) RRN (2) QRN (3) QRM (4) QON
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pirections (Questions 71-73) - Study the Information below Lo answer these questions.

live in three different
his choice with a
in that order.

geven friends namely Ajay. Deepak, Varun, Amit, Pritam, Kadir and Jasmeet fiv
puildings numeh:- Ashiana, Top-Hill and Ridge. Each person is flying a kite ?t
different colour like red, green, blue, white, black, yellow, and pink, not necessarily

. Kadilr is flving a pink kite and lives in the same building where Jasmeet slays. L.E.
*Ashiana’.
g
= H i _____,.--""-

Varun is flying a black kite and does not live in Ridge building.

Amit does not live in the same building where Ajay or hrrimm are living and is flying a
Fellow coloured kite.

Deepak lives in Ridge building with one more person and is flying a green kite,

« None living in Top-Hill building flies a white kite. _
of them are staying in Td@-_'ujiill

« Only two persons are slaying in Ridge building while three
building. g

+  Pritam does not fly a blue kite and stays in Top-Hill. @

21.  Who is flying the *Blue’ kite ?
(1) Jasmeet (2) Pritam

3y Ajay 7 (4) Deepak

79 Who are staying in Top-Hill building ?

! : d Prita
4 (1) Ajay. Pritam and Deepak (2) Varun, Jasmeet and Fritam >
) s yox iay and Pri
) P (3) Ajay. Varun and Pritam - (4) Ajay and Pritam - >
vrﬂf’ ey 4
; oy g P
73, Who are Tiving in Ridge building ?
(1Y 'Ajay and Pritam (2) Varun, Ajay and Pritam
{3)/{)1ee'pak and Amit (4) Deepak, Ajay and Pritam
2 o
Ii 74, Complete the series MHZ, NIW, OKT, PNQ" Qy —
| RN (@ QRN (3) QRM *) QQ
3, (o\ % @— =
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pirections (Questions 75-78) :

gumbered as 1 and 1[. Cunsig’u;rﬂich of these questions has a statement followed by twa conclusions

conclusions follows from the sm:r: Emﬁm'ﬁnl and the following conclusions. Decide: W 6118
ent. Mark answer as ;

(1) if conclusion | follows

(2) if conclusion 11 follows

(3) if neither conclusion | nor 11 follows
(4) if both conclusions | and 11 follow

5.  Statement :
There is mounting ¢ .
; g concern that water will i iti 1 d omi
ety be a flash point for political, social and econom
Caonclusions :
I. World faces an endemic global shortage of water.

I1. The scarcity of water will have serious repercussions on our lives.

76. Starement :

Some politicians preach austerity to public while living in luxury and driving Mercedes.

Conclusions :
I. All politicians prefer living a luxurious life.
[I. There is a world of difference betwéen preaching and practising.

77.  Srarement !

Every natural remedy 15 not necessarily harmless and should be used with caution.

Conclusions
| Thenatural remedies are not scientifically proven.

II. Everything natural has no side effect.

78,  Statement .
Until our country ach
meaningless.
Conclusions :
I. Political freedom and

iI. Economic equality lea

jeves economic equality, political freedom and democracy w

democracy are poles apart.
ds to real political freedom and democracy. ,

Code-84/8 15
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Rahul’s mother is
= the J . .
Rahul ? e only daughter of Monika's father. How 1s Monika's husband related 1o

{1} Uncle :
_{2) Father (3) Grandfather (4) Brother

where. Half of the

A ceértain - '
number of camel's and an equal number of men are, going some
their camels. If the

OWNErs an M Cane ;
b mf_: IrJn T.hvrlr \.Idn'n.l's back while the remaining ones are walking along
egs walking on the ground is 70, how many camels are there 7

|
SHEL 21 14 (3) 12 (4) 16

In a certain code, 15789 is written as XTZAL and 2346 is written as NPSU. How 18 2354

written in that code 7

(1) NPTUL (2) PNTSL __{3) NPTSL (4) NBTSL

Which term of the series 5, 10, 20, 40, ... is 12807
(1) 10th (2) 9th }}j" 4th {4) None of these

The number of boys in a class is three times the number of girls. Which one of the follo

numbers cannot represent the total number of children in the class ?

(1) 48 (2) 44 9,) 42 (4) 40

and walked 35 m. He then turned t«
and walked 35 m. Finally he turnec
Now, how far is he from his starting

From a point, Manveer started walking towards east
his right and walked 20 m and he again turned right
left and walked 20 m and he reached his destination.

(3) 50m @) 40m

b

her brother on Saturday, which was after the 20™ |
f that month was Tuesday, then on which date did R

(1)20 m (2)55m

bers that she met

Renu remem
particular month. If the 1% day ©

her brother ?
(1) 25" (2) 24" (3) 23" (4) None of ¢
-
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The sum ar .
W product of o .
reciprocals? O numbers are 12 and 35 respectively. What will be the sum of their

|
(= oo ]
-] = N 15
3 (=1 3 (KR ‘;:; 5’4! F
| A D
The ﬂill'll.‘lill'll‘d value of e T ) I_ 3
N 1 9 .
= o=y
J 3 1
LEy2 5 1
MR (3) . (4) None ofthese

Vanva gave 100 o ; .
myva gave 0% in charits from her salary, and then 200 from the rémaining she gave o h

friend as loan. She 1s left now with T7200. What is the salary of’ ¥anya?

(2 210000 (3) 210200 (43 11000

L T2000
@

On what principal will the compound interest for 3 vears at 3% per annum compounc

annually is T63.057

(1) 400 (2) T600 (3) 2300 (4) TR00

A dﬂ-es_ half as much work as B, and C does half as much work as A and B together. If C a
can finish the work in 40 days, then together all will finish the work in

ol &
[ 1) 13— days (2) 15 days (3) 20 days (4) 30 days

&

A truck ean finish a certain journey in 10 hours at a speed of 48 km/h. In order to cow
same distance in 8 hours, the speed of the truck must be increased by

(3) 12 km/h (4) 15 knv/h

(1) 6 km'h (2) 7.5 kmvh

ge of Ram and his mother is 3: 11. The difference of their ages is 24 years

The ratio of a
will be the ratio of their ages after 3 years?

2)3:2

3)1:4 4)5:4

(1)1 ;3
19
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IT2v + V= S then 4¢ + 2y =

(1.2 (2)
% {319 (4) 10

al

It a light

Nashes ev
g4 ery 6 seconds, how many times will it flash in } of an hour?

(1) 225
(2)250 (3) 450 (4) 480

03, :13{?1;&\1:1!& :.?:m shmrt simultanenus!y from two towns. 2 and ), towards Q and P respectively
u;wnrd; t'heir‘r:: ka post which is midway between P and Q. Both Mohit and Rohit turn bi
starting polats I;hE: h:W: ;;amng points whenever they reach R and every time they reach 1f
60 km/h respective ™ back and return to R. If the speeds of Mohit and Rohit are h

pectively and PQ = 24 km, when will they reach R at the same time”

| (L), 10 (2) 11:36 AM (3)2:12PM

0 SE

96, Five bells hggin to toll together and toll respectively at interval
How many times they will toll together in one hour?

(3 (2) 14 ® (47

' 97. Sum of two numbers is 17, whereas sum i < is 145. What is the product of th

numbers?

(-2 (2) 42)~W lb (3) 82 (4) 14
'J‘-'r‘.\

S g ’ g
g8, The difference betwgen ﬁgﬁ”ﬁgﬁf“{ﬁ; numbers is 3. If the sum of their squares is 369. t
i ;ﬁu

sum of the numbe;sé;ﬁ;& Y
C (3)27 (4) 25

\ ;5_6.}

s#lne-fourth of a number is 15, then three-tenth of that number is

(1) 81

99, Hhird
WED 359 (2) 36 (3) 45 (4 54
uJ‘\_- E"r‘_':; ¥

100. Which one of the following fractions is the least?

20 3113 17

57'85'38 42 ; .
2 3 @) = @) —
(1) g (2) 53 3% %)
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